Shoe Bazaar

Rita and Sheena each won $75 in a competition. They have decided to go shopping
at a shoe bazaar. Calculate how much each one spent, and then find out who has
more money left over.

Step 1
Rita bought the boots (#4) and the red Sheena bought the green sandals (#1) and the
dress shoes (#2). How much did she spend? brown flats (#3). How much did she spend?
boots
dress shoes
TOTAL TOTAL
Step 2
Rita had $75 with her. How much money Sheena had $75 with her. How much money
does she have left? does she have left?
TOTAL TOTAL

Circle the name of the person with more money left.

RITA SHEENA
3
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